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COMMERCE
Paper 111

TSy
gyAutrent 111

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions. Each
question carrying Two (2) marks. Attempt All questions.

AT : A1 GRAUAh THY Ueew (75) Jgaarl v ol oTRd. Woid Jeen g (2)

U Sed. @d U G

Accounting Standard 28 is related
with ..o, .

(A) Cash flow statement
(B) Valuation of inventories
(C) Impairment of assets
(D) Earning per share

A department in which manager has
control over revenues, expenses
and investment in assets is called

AS cereeree e .
(A) Profit centre
(B) Cost centre
(C) Revenue centre

(D) Investment centre

@R A 28 ' Irem famfea
T

(A) @ YaE 9Th

(B) HIeTHEl Hedieh
(C) HIeTHwl HeToe
(D) ¥t i fHesshd

e fIYNT SHEeie T Wy, T
9 AT TAeUeh AR R hvdrEn

(A) THE &3

(B) dfteaa w3
(C) Heqgd s
(D) TEIR

[P.T.O.



On listing of the Stock Exchange,

securities can be made easily........... .
(A) Transferable

(B) Affordable

(C) Refundable

(D) Profitable

Open ended mutual funds are

traded at their ................... .
(A) Net Asset Value

(B) Gross Asset Value

(C) Net Realisable Value
(D) Net Book Value

Which of the following is not
a speculation in the stock

exchange ?
(A) Bull
(B) Broker
(C) Bear

(D) Stag
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e

YNTYTSdd ISR Aleld shaledl A=

(A) s
(B) TESUISINIGT
(C) TafHesuramar

(D) <HyEdn

TOIGIR A hel HaER

froadia 2am.

(A) T AT Hod

(B) Qreles HICTHT HoH

(C) T aygeie Jed

(D) g Eehia oo

EeicIUeh! hIVMAT S8R 9T Wigad

TSI ATIET-SHa8R, THSTAT STd ATat 2
(A) & (Bull)

(B) <c<iied (Broker)

(C) fa3 (Bear)

(D) T (Stag)




Commercial paper represents a
financial instrument issued for the

purpose of .................... .

(A) Project financing

(B) Leasing of a plant

(C) Working capital

(D) Import of capital goods

A factoring arrangement used in the
international trade finance by

exporter who export their goods is

called .....ccouueee... .

(A) Forfeiting factoring

(B) Limited factoring

(C) Conventional factoring

(D) Recourse factoring
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anforsas § foria Wem =vE ereft|

3w o

(A) Uohed Taii=ento

(B) ¥ WEU AR

(C) Wesd Hresdad

(D) WrEael a&E M

o ¢
[

AR AR SR foa e

] AR haeiTel Sewel hatt

(A) FRATS SR

(B) waifed ®eedm

(C) URUE He=dT

(D) YAYSRT Thaed

[P.T.O.



Modern marketing concept is .............

oriented concept.

(A) Suppliers

(B) Consumers

(C) Dealers

(D) Distribution

Since the implementation of
liberalisation policy in India, there
has been a shift from .................
market situation to buyers’ market
situation in case of several types of

consumer products.

(A) Private

(B) Public

(C) Sellers’

(D) Competitors’

APR - 50317/111—D

3:“_%_@5 rclhlUI"I {‘ichc'*‘l"ll gﬁ. ..................
e Heheu ST,

(A) qLESRR
(B) SUia
(C) faman

(D) fod=m

YA SRR 0= SRum=al 3T -

SSEUIHA 3THeh  SUHRATAT TR A

FORUS STRIHEY dSel oIl 8.

(A) @rsT

IRICEIRED

(C) fashcaren

(D) TqeferT=a




10. Patronage motive is a motive which

11.

induces a person to buy ............... .

(A) From a particular shop

(B) On the basis of product features

(C) On the basis of product pricing

(D) On the basis of product

packaging

Discouraging the demand for

a product or service is referred

AS i .

(A) E-marketing

(B) Demarketing

(C) Remarketing

(D) Micro-marketing
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10. 3T%™ ¥ & ST ¥ IS i SATIR

11.

(A) faftre gewmmYT=

(B) a% afyrsedi=an SMURER

(C) a%] fRad=n TaRER

(D) K AT SERET

TR g fhar da=a ATl

(A) 3-HTeh(eT

(B) SR

(C) THmhfeT

(D) HEhI-HATh e

[P.T.O.



12.

13.

Green washing refers to outwardly

adopting green acts with an

underlying purpose of ................ .

(A) Satisfying the consumers

(B) Exploiting the employees

(C) Increasing the profit

(D) Decreasing the profit

While selling a motor car, the role

Of i, in a family is the most

important role for marketers.

(A) Initiator

(B) Influencer

(C) Decider

(D) User

13.
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3TT AT IER A/ A = el

HO T
(A) TTEHE THIYM 00

(B) SH==are IO IO

(C) THI=H FGI HO

(D) TR T H0

AN~ o

TeehEl Tt

chdlAl ECRLECIIE)

gaid Heca=l 3.

(A) srferemat

(B) guraehdi

(O BELRET]

(D) ST




14.

15.

In case of marketing research, which

of the following is not a source of

secondary data ?

(A) Books and Periodicals

(B) Government Reports

(C) Internet Websites

(D) Telephonic Survey

Which of the following is not the
advantage of recruitment from

within ?

(A) Stability from continuity of

employment ensured

(B) Creation of sense of security

among employees

(C) Enhancing the general morale

of employees

(D) Varied and broader experience

14.

15.
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faqum denemmEeYia EefieTieh! Il
gH Hifed! Hid @ ?

(A) T&ish At frraentfaren

(B) &Nl 2T8aTd
(C) aSIeT-Tehaees

(D) EAIER FaA&m

@A ShIval T 8 STaiid Y=

HEE] ATE ?

(A) TFrRi= HaEEd WAt @t

(B) wHTraHed gIfaad=al Hreq

RIEKI]

(C) FHUar= TR §18d arefan

(D) fafay smfor =aMUe 39

[P.T.O.



17.

may be defined as the

amount for conveniences and
necessaries of life that a worker
obtains for a given period of his/her

work.

(A) Real wage

(B) Living wage

(C) Fair wage

(D) Minimum wage

Usually Manpower Planning in the
context of an enterprises human
resources does not as such focus

[0 8 .

(A) Acquisition

(B) Utilisation

(C) Social skills

(D) Improvement

16.

17.
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HTHRI A fohen fav sheiean 3eieh

I SIS STaAegdesh TS o

g YR arEet fHesreiell Tehd RSt

3NN M Hial s

(A) IRd ddq

(B) Sfteq aaA

(C) =g oA

(D) fram oaH

S = e GHIEATAT Heyid

S RAECIC I ERISEICI BT

A 3 ATEL

(A) ITIT/9T=d a0l

(B) T9Y/39AM

(C) HHIfSIeh hivTe™

(D) guron

10



18.

19.

Which one of the following is fast
emerging as a very serious problem
in the wider field of Human

Resource Management ?

(A) Inadequacy of right type of

manpower

(B)

Employee alienation

(©)

Lack of adequate professional

approach

(D) Role of trade unions

Which one of the following is not a

purpose of transfer ?

(A)

To rectify erroneous placement

(B)

To provide creative opportunity

(C) To satisfy the employee’s desire

(D) To move the employee in the
interests of his/her health

&/or age

18.

19.

APR - 50317/111—D

Y] TEEA HEETTe A9k &7Td
WTATAUh] Shivrt 317 TR ga7en a9

W AR ?

(A) TR/ TehR=AT HSHeTca=T STYRI

(B) HHEAMET gERTIoN

(C) QM HaHIIE gftehMm=T 3T9mE

(D) SR HeeAr YfHeh

TeAde! IVl Seai=l oq e ?

(A) Tehrea Trgeil=t el

(B) geRiTel/TaTcHeh A deft <o

(C) HHAFArN =91 qUl Y0l

(D) sH=EaTn ARG fwer o =

o N

fedr=a g e gaAfdul

11

[P.T.O.



20. When an employee has few

21.

he/she has high morale.

(A) Perceptions

(B) Frustrations

(C) Dissonances

(D) Failures

Find the odd one out :

Some of the types of formalised

programmes of training are :

(A) Job Rotation

(B) Job Enlargement

(C) Job Enrichment

(D) Fulfilment of Esteem Needs

20. Siegl hH=T=aTe foRAM

21.
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eg1 e/ IS Sl ST

(A) SITOfrET (9HST)

(B) I

(C) Yfciehard

(D) 3T

fogma Tafg feEn

gigreri=an o= SEwHR FEl

THR JEAyHm e

(A) =& aR=Eed

(B) =& famr

(C) 1 TGS

(D) Wfeean RS e
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22.

23.

IMF performs the role of :

(A) Granting soft loans to less

developed countries

(B) Regulate international trade

©)

Promote private investments

(D) Promote exchange stability by

establishing multilateral

system of payment

To qualify for free trade or reduce
tariff under NAFTA, the North
American content in production

value needs to be :

(A) 25%

B) 75%

(C) 50%

(D) 40%

APR - 50317/111—D

22. Wt IMF =t yffer &€ ome

23.

(A) STeufaesfad ST Hoerd=l sl <ol

(B) T&hid AMURE a9 &0

(C) TISFt T[qauEhid =Tl Q0

(D) SEU e i hee Ter e

e o

T HAAYHO Hod AR fohar &

TIANE I RIS U <9Il

ICACA HeIW N SUE WA= L

I ISt

(A) feam 25 T

IH e

(B) Tvum 75 <=

IH e

(C) Tu™ 50 ==

40 TFh

IHA e

(D) ToHa™

13

[P.T.O.



24. If the rate of exchange is allowed

25.

to be freely determined by demand
and supply in foreign exchange

market, it is called as :

(A) Fixed Exchange Rate

(B) Gold Standard

(C) Flexible Exchange Rate

(D) Rigid Exchange Rate

Because of its low rate of interest
and easy terms of repayment, IDA

is nicknamed as :

(A) Friend of LDCs

(B) Soft loan corridor

(C) Soft loan window

(D) Soft banker

APR - 50317/111—D

24. fafamren X faf =g seRda qrmet |

25.

qaeare yekiter Fuiftd 2 ey

Al 3 WA

(A) feR fafma X

(B) gavl WA

(C) sEora faf g X

(D) R fafma X

AN 3Teq ST o WAhe =l g4
3T AHos SR folehre Toe i (IDA)

WATAUh! I SAYUHEN 3 Sd

o ~N

(A) ATfIHTTd <IM=T FE@

(B) W @H ®HNER

(C) " o= o<t

(D) 9 da
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26. Which of the following is not a part

of IMF member countries quota to

APR - 50317/111—D

26. IMF =1 WiSaad 9HEe <9m=a fes=r=n

ETATTYh] ShIUT S2eh Teh W THar ?

the capital base of IMF ?
A) GaEhd Wehd IaHete AIEH
(A) Contribution in widely accepted &) kKl
foreign currencies (B) fosly STeTo SR
(B) SDRs
(C) 99 <IN WA =
(C) Member countries own currency
(D) gaui/aA
(D) Gold
27. Which of the following member | 27- qTeh FEeAq Weelush! vl o¥1 Tafd
countries was last to join SAARC ? el GEF Sl ?
(A) India (A) YT
(B) Afghanistan (B) TR
(D) Nepal D) T
15 [P.T.O.



28.

29.

Which of the following statements

is true ?

(A) WTO is replaced by GATT

(B) IMF is replaced by WTO

(C) GATT is replaced by WTO

(D) WTO is replaced by IMF

A status of foreign citizen working
in India during the previous year

for 180 days is .......ccceeeeee .

(A) Resident and ordinary
resident

(B) Resident but not ordinary
resident

(C) Non-Resident

(D) Foreign Citizen

28.

29.

APR - 50317/111—D

@ctelieht hivd faem@ @& 3me ?

(A) WTO =1 St GATT 1R 3Tl

(B) IMF =1 St WTO 31f&acard el

(C) GATT =1 ST WTO 3Tiicmd

A

(D) WTO =1 STt IMF 31facand 3

aRaa 180 fogaw fHema  srgum==n

TRIT MReRrEr e =t ivrn

I ?

(A) THardt 9 wdaemr e

(B) THamdt wor weamemr fardt e

(C) et

(D) TEIM AR

16
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30. A motor car having 1800 cc engine | 30. HCTh HHEI SS=l 1800cc &H
capacity, provided by an employer TR /e Tﬁqﬁ IERIEIE
IIETS! IqTsd ke faell e
to employee for official purposes only
REEEEREICRIER A CTIReE R
is valued as perquisite at :
FAE BRA 2
(A) T 2,400 p.m. (A) T 2,400 TR
(B) % 1,800 p.m. (B) % 1,800 HfHT®
(C) ¥ 600 p.m. (C) % 600 9fqH™®
(D) Nil @) =
31. Deduction U/S 80 TTA of Income 1. ST SR Herd 80 TTA T8N
Tax Act, 1961, towards interest on Sehdld o= Eeder Ha3um=ar =i
Saving Bank Account is limited ST S Tl aelEe R
170 JUUURN .
(A) T 30,000
(A) ¥ 30,000
(B) % 1,000
(B) % 1,000
(C) T 10,000
(C) % 10,000
D) % 3,000 D) 3,000
17 [P.T.O.



32.

33.

Which of the following methods of

depreciation is considered under the

Income Tax Act 1961 for calculating

depreciation allowance U/S 32 ?

(A) Straight line method

(B) Written down value method

(C) Revaluation method

(D) Insurance method

Which of the following is not capital

asset under Income Tax Act, 1961 ?

(A) Agricultural land

(B) Urban land

(C) Forest land

(D) Industrial land

32.

33.

APR - 50317/111—D

SR HIISH 1961 el shetd 32 TR

FHIATN TG HIUATHIST  WIeerien]

IV TG {1 hieell Sl ?

(A) e 1 Tgud

(B) ®d Hed UgHd

(C) e uged

(D) fomr uged

3T HIIRT 1961 STTIAR WICHcrusht

R WSl ATHT A 2

(A) Foft ot

(B) vl sHt

(C) = ot

(D) siicafitr et

18
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34. Non-disclosure of income from 34. 8|.-||1.|'\| oqu|q|l.||{i\q-| ﬁqggunig?q:[gag:[
Benami transactions is an example 00 T wele T o
of v, .
(A) & TIsH
(A) Tax planning
(B) X Iasul
(B) Tax avoidance
(C) T Fehfau
(C) Tax evasion
(D) Tax exclusion (D) =T
35. Income from Royalty U/S 80 RRB | 35. fHsh q&iehre THesU=a Uaeer=Al
on text-book is eligible for deduction FHTEl Hecdd geae hatd 80 RRB
under Income Tax Act, 1961 : STHR 3! 3TY :
(A) T 1,00,000 (A) % 1,00,000
(B) ¥ 2,00,000 (B) ¥ 2,00,000
(C) X 3,00,000 (C) % 3,00,000
(D) Nil D) TR
19 [P.T.O.



36. Addition of a new product line in a

37.

COMPANY 1S .cevvvveneernnnnnn. .

(A) Diversification

(B) Vertical integration

(C) Horizontal integration

(D) Geographic expansion

Which Act was replaced with the

introduction of Competition Act

2002 ?

(A) FERA

(B) MRTP

(C) POTA

(D) FEMA

APR - 50317/111—D

36. HYAHY T I LG I HL]

37.

(A) fafaefrerto

(B) &g ThARI0

(C) 3Ted (TaIfasad ™) TehsiTehul
(D) ¥rifess faer

SHIGETE 3fae 2002 T HIEFU HI0T

HEEET S Sl ?
ferar
SHIVIAT HEGT HIFASTE STegR hIuTel
R ST S STt ?
(A) %0 (FERA)
(B) WM. 3W. I. @. (MRTP)
(C) [ (POTA)

(D) &9 (FEMA)

20
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38, e, is a single act of | gg e g':r qot T FHIOIE] o TEATHSR
comparison and learning for gwmmﬁ@ﬁaﬁﬁ
organisational improvement. 3R,

(A) Benchmarking (A) STIHE/JATIE S0
(B) Feedback (B) YfqHIE qUmIOT/HETE
(C) Ranking (C) TUIshH =l
(D) Job evaluation (D) HREHEIHTA
39. Low income economies are | 39. 37U 30— STHICHT ALTATAT el
sometimes referred to as ................ . Foog o I fdfera et
SiGH
(A) First world economies
(A) YUH STfaer  TefeaEen
(B) Second world economies
(B) fedta Smifas srefeaeen
(C) Third world economies
(C) qda SmTfaen SAeferasen
(D) Fourth world economies D) El@ﬁ ST sjefereree
21 [P.T.O.



40.

41.

On retirement of a partner,

continuing partners gain in terms

(A) Gaining

(B) Capital

(C) Profit sharing

(D) Sacrificing

Profit on re-issue of forfeited shares

is transferred to .................. )

(A) Profit and Loss Account

(B) Capital Reserve Account

(C) Profit and Loss Appropriation

Account

(D) General Reserve Account

APR - 50317/111—D

40. 9FTER I BamT =1e] Tfseiedn ARTGRAT

41.

(A)

(B)

(©)

(D)

%l d1<q

Iiplif

[ e (a)

ST

(A)

(B)

()

(D)

Sheledl AN qAfdshiade

TR 9 dlel @

aTeae {etg et =

% 9 der fatEn '

g EE fAE Em
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42. An investment centre can be | 42. TAOUE ShgTe HeFHT < e
evaluated by .................. . ST
(A) Profit (A) T
(B) Return on turnover (B) SAATaRIE TR
(C) Present value of investment (C) TAIIHE U qTH
(D) Return on investment (D) idqﬂ*ﬁlqam il
43. The main purpose of cost accounting | 43. TRETH TAEHAT THE %@ ““““““““ Bl
1S 0 i, .
3.
(A) Assist the management in
(A) =FEEaIAen o Sl wed
decision-making
(B) Maximise profits and minimise
losses (B) Wew® T M0 e e
(C) Comply the norms issued by the e e
(C) YRd H{hRA ddldel gL shalcdl
Government of India from time
to i et g 0]
o time
(D) Prepare cost accounts in line (D) AETRT AR *i**‘""' Tgdr
with the accounting standards R o T I
23 [P.T.O.



44. An indifference curve is usually

45.

convex to the origin because of :

(A) Increasing marginal rate of

substitution

(B) Diminishing marginal rate of

substitution

(C) Constant marginal rate of

substitution

(D) Variable marginal rate of

substitution

(AC — AVC) x Output is :

(A) TC

(B) TFC

(C) TVC

(D) AFC

APR - 50317/111—D

44, TR HIUAT HROMHS THI/

45.

Jexgd T oG9 ARy fega

fgTe STl ?

(A) el HH TaEE X

(B) wedl HiHE Tl €%

(C) feer Hmia wiadn <X

(D) SEerd HH g

(TEh Td - IEd aeed '") x
IR UIded TS

(A) THY T

(B) TR fer ==

(C) THU Fkadl @

(D) WE fer Td
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46. The products sold by rival firms in

47.

monopolistic competition are :

(A) Perfectly complementary

(B) Perfectly substitutes

(C) Complementary

(D) Close substitutes

When AR of a firm is above its AC

then :

(A) The firm will earn supernormal

profits

(B) The firm will achieve break-

even point

The firm will earn normal

(C)

profits

(D)

The firm will suffer losses

APR - 50317/111—D

46. THIGRIGH TIHESRIAG TTEER ITNT-

47.

HEHT IS heted a&] & T

(A) qUMY & SFEA

(B) JUigul W ST
(C) & 3TEd

(D) Sdesed 9Itg ST

SN IUEd Wl (AR) o= wEd

T (AC) SR 31fes ST e ™

(A) ST Srfafiem/STemer Tw

KR

(B) SENTEELT A THI-1 AT STerel I

i

(C) STNTEEIY HeHENo 6 fHesd

(D) SENEESY diel B
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48.

49.

A study of entire population is called

AS i, .

(A) Census

(B) Sample survey

(C) Pilot survey

(D) Random survey

If a random variable X follows

Poisson distribution such that

PX=1)=P X =2), then the mean

Oof X 1S trveveeevinnennen, .

A) 1

B) 2

) 3

D) 4

49.

APR - 50317/111—D

(A) 9Ol

(B) TN wefeq

(C) TUeIM To&m

(D) agfesh Taem

R X A1 Agfew Jar foaawon argam

A MTPX=1)=PX=2), ®

A 1

B) 2

) 3

D) 4
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50. A certain quantity is a total of

51.

certain number of components then

diagram to

represent it.

(A) Bar

(B) Line

(C) Pie

(D) Multiple bar

If P(A) = 5P(A"), then P(A) = ............. .

(A) 5

(B) 1/5

(C) 5/6

(D) 16

APR - 50317/111—D

50. TEET TS & 3Teh Seahi=l ISl T

51.

(A) wHeE

(B)

(C) wrafa

(D) dgaa WYeE

ST P(A) = 5P(A)), WP(A) =

.............

(A) 5

(B) 1/5

(C) 5/6

(D) 1/6
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53.

is a step in the process of

..................

controlling.

(A) Matching the actual
performance with the standard

set

(B) Developing feed forward control

(C) Organising delegation of

authority

(D) Working out span of

management

Decision-making requires :

(A) Designing organisation

structure

(B) Decentralisation of authority

(C) Unity of command

(D) Planning

53.

APR - 50317/111—D

(A) JHEIIO  (YHTOTRTIER)  ShrARTRIeh

YA SR Jedad g0l

(B) st femr fasfaa =0

(C) AYFR YA Heed hiv]

(D) SHIEATYATE! &l SSA/TIR Y00

(A) TeeT A1 (TSl TIR hiv)/

ERICL

(B) Afoerrre foshgiertor o)

(C) STRIM=N WehTcAdl

(D) fE~H
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APR - 50317/111—D

54. Effective leadership particularly | 54. TRUMHeRReR/FHTel el fergrora: =
depends on : FTER ST ST
(A) Organisation Structure (A) TEeA =
(B) Situation (B) itfeerdt
(C) Span of Control (C) T e
(D) Programme Design (D) FrFHH T/ SAEST
55. Motivation does not necessarily | 55. TGO g IR AT 3TEd
depend on : TSN STTavIHar ATE
(A) Motive (A) /IO
(B) Superior (B) s3t/5as3 ATl
(C) Organisation structure (C) oA T/ ANEE]
(D) Opportunity to fulfil social needs (D) WS TS AT Hedt
56. Societal marketing concept gives | 96. arTfSTeh foraum Hereqar g Bl
more importance to .................... . st Hewa 24
(A) Customer satisfaction N T—
(B) Profits for the company
(B) el BOmI
(C) Domination of competitors
(D) Welfare and well-being of the (C) P T
society (D) FHSTE Hedrol A0 3=t
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57.

58.

A person’s consistently favourable or
unfavourable evaluation, feelings
and tendencies towards an object or

idea is called as ........ccceeueeeee. .
(A) Motive

(B) Attitude

(C) Belief

(D) Perception

Which statement of the following is

not correct ?

(A) Green consumers purchase the

products which are eco-friendly

(B) Green consumers purchase the
products which are packed in

green coloured papers only

(C) Green consumers purchase the
products which are re-cycled

products

(D) Green consumers purchase the
products which are not prepared

from threatened species

57.

58.

APR - 50317/111—D

TEITE i1 TEme 9% fohal shea-

WWWW@{W

ThRIcHE 1T, TSdlesvll ST et ATl

................. S TR
(&) &

(B) =it

(C) foward

(D) &HSt

TefadeR! SO fog seR A ?

fay

(A) TRA IUHER THETH T BRG]

hdld

(B) B Ui e fetemn A

FHFET I STHAHT TH[H BRG]

hdld

(C) BT U JAaTR Sheled a&g=
TS HLATd

(D) BRA UK GHIes TSI TaR

Sholedl TR TRE! HA AR
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59.

60.

In new product development process,

when new product is launched on

trial basis in a small geographical

area, it is called as ........ccccoeeee .

(A) Test marketing

(B) Product marketing

(C) Company testing

(D) Policy Testing

Which of the following factors does

not influence a dividend policy ?

(A) Liquidity position of a company

(B) Market value of share

(C) Legal restrictions

(D) Size of business

59.

60.

APR - 50317/111—D

e o foreshre aferamed Siegt e a%q
TR Trelle S8 YHITHES HGL shedl
T — N —
(A) ==l g

(B) =& faqum

(C) =hul ==l

(D) eRom= =rei

TITCTCTUGhT SRHIOTC HIehi= AT SROMER

JYE Ted A 2

(A) HUA=T TG Yedr g

(B) N ASIRHEH

(C) HERT &gq

(D) HadEr= SATRHAA
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61. From the following information,

62.

calculate the combined leverage :
Sales ¥ 10,00,000,

Variable Cost T 4,00,000,

Fixed Cost T 2,00,000,

Interest ¥ 40,000,

Tax Rate @ 30%.
(A) 1.67
(B) 1.50
(C) 111

(D) 1.35

Capital structure designing has

nothing to do with ................... .
(A) Profitability

(B) Flexibility

(C) Corporate Governance

(D) Liquidity

APR - 50317/111—D

61. Tcital Hifgdia®d Tehid IO el

62.

faset ¥ 10,00,000,

SEeAdl IeTd T 4,00,000,
feer 9fite@ 7 2,00,000,
= % 40,000,

H X @ 30%.
(A) 1.67
(B) 1.50
C) 1.11

(D) 1.35

= S ad T RESITe
HYAEl oY Tal.

(A) AT
(B) <Aiferehar
(C) HUA GIMEA

(D) U@ w0
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D
63. According to — approach, if the

64.

P

market price of equity shares of a
company (Face value T 10) is ¥ 15
and dividend rate is @ 20%, cost of

equity shares will be ................ .

(A) 20%

(B) 15%

(C) 13.3%

(D) 12.5%

When a manager follows an
interview guide but also asks other
questions, what type of interview is

being used by him ?

(A) A structured interview

(B) A semi-structured interview

(C) An unstructured interview

(D) An open interview

63.

64.

APR - 50317/111—D

D ~ - b [a
F Yl QIS THEN Tehl hq-=AT HHA

I (SR fohAa 3 10) SIRASA

3 15 3TT AR ST 20% 3T T FH

(A) 20%
(B) 15%
(C) 13.3%

D) 12.5%

ST eI HARI ARG ehT SR

U EERIeR X YIEl foaRard el

I qatied HAenRI=l AL endld ?

(A) e qamed

(B) steiERfad Hared

(C) TERf=a Hared

(D) Tl ored
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65.

66.

Provisions relating to strike and
lock-out in industrial organisations

are there in the :

(A) Payment of Wages Act

(B) Industrial Disputes Act

(C) Minimum Wages Act

(D) Factories Act

Which of the following is not

included in the model for

formulating a career strategy ?

(A) Assessment of personality traits

(B) Implementation of the career

plan

(C) Long-range personal and

professional goals

(D) Personal profile

65.

66.

APR - 50317/111—D
ArENfiTeR HeeATdIe T o dleseia] e
(A) 91 <F (Payment of Wages Act)
(B) 3Menfier wet®
(C) fwum aaa

(D) SR

TR e FHORT ShiteR SgTa=

A& ?

(A) TR HecdT=a] e afyrseara

HAHMGT

~

(B) HileR fTASHRET AHSTaT

(C) <TfehTel =AforaTd o SHEEI S
23 /3fE

(D) HfeFTa Afed
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67.

Leading human resources is the
process of influencing the activities
of an individual or a group in efforts
towards goal achievement in

gIVeN ....oevvvvvvennens .

(A) Structure

APR - 50317/111—D

23/3fese a1y

HIATAT YA Al fohal TR

(TRT=AT) R GHE/IROTH SHIoATE

Tfhal US| A FEEAE A B

(A) TEE]/=d

(B) Ui
(B) Situation
(C) Organisation (C) e
(D) Culture (D) HEFHr
68. Which of the following is not a | 68. WIiicIUsh! IV Ta deh faTYRSAA
principle of bank lending ? et ?
(A) Collective responsibility (A) HHfgHh Serer
(B) Liquidity (B) T@al a@
(C) Security (C) gUydar aw
(D) Profitability (D) <M¥Yedr d
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69.

70.

71.

Which of the following is not induced

in three pillars of BASEL capital

accord ?

(A) Minimum capital requirement
(B) Supervisory review

(C) Market discipline

(D) Core banking solutions

What is full form of CTS ?

(A) Call Trade System

(B) Cheque Truncation System
(C) Cheque Transmission System
(D) Cheque Transport System

Which of the following sectors does
not come under the perview of IDBI

for term lending ?

(A) Defence equipments
(B) Informatics

(C) Health care

(D) Storage and distribution of

energy

APR - 50317/111—D

69. ST HITAT A9 WUHES TeieTdeh]

70.

71.

IVl Heeh THIOSE holell ATar 2

(A) feh T ‘HISdm ‘4¢|i‘<‘|(‘l(‘|l
(B) AT

(C) eeR fereafm

(D) HIR dfhT HIegeH

CTS @ qu &9 = :
(A) Hie T8 foedm
(B) @ ZayH oM
(C) =& TrareH faem
(D) = TEuR faem

IDBI =1 &l heiid Teierdeh! shivre

ST WEUN Al ?
(A) TI&UT IaEH
(B) wifedias 3cacA

(C) IS ScieA

(D) 3 Weav® o fIawo I
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72.

73.

All those financial resources and
facilities which are available to the
monetary authorities of countries
for solving their International

disbursements are called as :

(A) Global funds

(B) International funds

(C) International liquidity

(D) International capital

Special Drawing Rights issued by

IMF are components of :

(A) Foreign investment flows

(B) International liquidity

(C) International institutional

investments

(D) International capital

72.

73.

APR - 50317/111—D

YA T SHTEAT 3Mqet fereelt <oft

Eulicaeicicilick e i el IR R

YA 9 gfagm

(A) SImifqes e wgorard

(B) fqwrsery faeft mumm

(C) AT qerdl TEuTard

(D) 3TAWET Wigdal U

Nes o

SIS e RS

[RIEKEEENE

3TEL01 3TYRR (SDRs) § @leiletien! =

O 3TRd :

(A) THIT viedd e

(B) ST aRardl

(C) SIFTfaesh H¥ACHS  T[qav[eh!

(D) STIfaer g
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74.

75.

Which of the following is not true

with reference to WTO ?

(A) It is an organisation

(B) It is permanent in nature

(C) It has dispute settlement

mechanism

(D) It deals with only trade in

goods

The Asian Development Bank (ADB)

is :

(A) Multilateral Trade Organisation

(B) Global Investment Organisation

(C) Regional Finance Institution

(D) Export Finance Bank

74.

75.

APR - 50317/111—D

SIMTfdes SR Teea=a1 (WTO) Hedid

WeAleteh! HI0d oo T e ?

(A) & Th HEO AR

(B) @ w@ey o e

(C) T T I=on fa=n e am e

(D) W S SATIREN o Hefed e

a7fynE foshm s (ADB) & T :

(A) TEUSEE SAMR ToeT 3%

(B) SIMfdeh T[qaveh A 3T

(C) faurta fom gwen ome

(D) frafq fom o =M@
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